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Labor force—People within the working age (16 to when retirement age) who are
employed or are unemployed and seeking work (excluding the population in the

military, prisons, mental hospitals, and nursing homes).

Employed—People who worked full-time or part-time during the past week or are
on vacation or sick leave from a regular job.

Underemployed—People who could (and would like to) be working for a full
work week but can find only part-time work. This term is also used to describe
people with high skill levels in low-wage jobs that do not require such abilities—
for example, a trained medical doctor who works as a taxi driver.

Unemployed—People who did not work during the preceding week but made
some effort to find work in the past four weeks.

Out of the labor force—People who did not work in the past week and did not
look for work in the past four weeks—in other words, people who are neither
employed nor unemployed. Full-time students, unpaid homemakers, and retirees
are examples of people who are out of the labor force.

Discouraged workers—People who would like to have a job but have not made
an effort to find one in the past four weeks.

How many people are out of the classroom labor force?

How many people are in your classroom labor force?

How many people are employed?

How many people are unemployed?
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Types of unemployment

Economists have found it useful to think of unemployment as being of
three broad types: frictional, structural, and cyclical. Each type of
unemployment has different causes and imposes different economic
and social costs.

Frictional unemployment includes workers who are either searching for
jobs or waiting to take jobs in the near future. Examples are workers
who are transitioning between jobs and students who have recently
graduated.

Structural unemployment is caused by changes in the structure of
demand for consumer goods and in technology. This category includes
workers who are unemployed because their skills are not demanded by
employers, because they lack sufficient skills to obtain employment, or
because they cannot easily move to locations where jobs are available.

Cyclical unemployment is caused by the recession phase of the
business cycle, that is, by a deficiency of total spending. As the overall
demand for goods and services decreases, less labor is needed, so
employment falls and unemployment rises.
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The unemployment rate is a key indicator of the state of the labor
market. When the unemployment rate is high, work is hard to find, and
people who do have jobs typically find it harder to get promotions or

wage increases.

The unemployment rate is determined by dividing the number of
unemployed people by the total labor force.

Unemployed workers

Unemployment rate =
Total labor force

Classroom unemployment rate =

9+27=0.33

The classroom unemployment rate is 33%.



